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Pythonlﬂy :

import numpy as np

import matplotlib.pyplot as plt
HZ e

ri=np.array([6.0])
ro=np.array([4.0])
pi=np.array([0.5])

dt=2

HYE BUE
tO=np.array([0.0])
VO=np.array([2000.0])
SO=np.array([2.0])
p0=S0/VO0

V=V0
S=S0
p=p0
t=t0

while p[-1]<0.2:
t=np.append(t,t[-1]+dt)#H ]
V-+=(ri-ro)*dt #{&FR A4k,
S+=(ri*pi-ro*p[-1])*dt #75 h =1L,
p=np.append(p,S/V) #ik FE A1k,

#IC SR I %]

t1=t[-1]

HE R B IR

p1=0

while p[-1]>0.1:
t=np.append(t,t[-1]+dt) #H} [A]
V-+=(ri-ro)*dt #/&FA AR AL,
S+=(ri*pi-ro*p[-1])*dt #5 th =481k,
p=np.append(p,S/V) #i £ 24k,

HICSKIN Z]

t2=t[-1]
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plt.rcParams['font.sans-serif'|=['SimHei"| # ] X £ ¥ BT F i 5
plt.close('all')

plt.figure(1)

plt.plot(t,p,label="3k & T 4&")

plt.legend()

plt.plot(t1,0.2,'0")

plt.text(t1,0.2,'(%.0£,0.2)'%t1)

plt.plot(t2,0.1,'d")

plt.text(t2,0.1,'(%.0£,0.1)'%t2,ha ='right")

print("% Zf/\éc]’ RETE & XK0.2"%t1)
print(" F i3 %.2f9-4F K B 0.2 % 4 2] 0.1" % (t2-t1))
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